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Find the slope and y-intercept of the line with the given data. Using the
slope and y-intercept, write the equation of the line in slope-intercept
form.

Sk D Find o poiits rom e
T dme

(240) and (0,"4)

.....
+5  +4 +3 +2 +1 0 1

......... ......... = ..... | ........ ......... 3 ........ 4 ........ (54, =(250)

- and finh A <lope. o
liha bg_ slopq= S;i:*:ii

® Find . y-ifunopt puint (A lrsedtion
POk ofe -t 8(21?1/\ owndl affo\y{_g )
4t s Coy=9)
@ S‘(’PQ‘ W\ﬁl’@{ﬂ‘ Lorm % — (S(OPQ>, X + b

%T_ZXTb and 4 wturoph L\S\COD“L’)
<20tb S b= ~¢ > [y=2~¢

P[ lkg_ (.0_9 q’)
kA=t X




&M&mph

......... ......... _______ AN (,033) q,‘d C‘SQOB

TN 9y Wetn=(0,3)

(X5 4 = (3 40)

o)) RN T VL | R

% = Csﬂope,)- X tb

B owd®, d= —I-Xtb and g-intreph is (0,3)

Plug (D:Q% wilo I= | (0 b = b=3
= ><~(-b

Thae lie W\OA 1S E—x—h’)\




O Fnd twd pointe Fram
gpn

(_\_)0) Oll/\d COD—_Z)

: _ @l (Go §) =052
and find €l s(on_ ol

8: (sloped- X to
By & and @ 4=-2% th and &—IV\WUZ' s (0,2)

ug (0.=) 1ibo .
MES ™ S st S b2
U=—-2Xt0

The. I e%wj'lot/\ 1S L%: —2X '—%




Find the equation of the line in point-slope form (3.3) using the indicated
point P.
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Below are three graphs for the functions f, g, and h.
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Let f be the function given by the following graph.
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